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arr. Stephen Simpson
2005 (ver. 1.2 ) q = 50

V'tov B'einecha
Trad.

(Hazan starts Sim Shalom on E)

Melody

Baritone

Tenor

Bass





 
V' tov


-

 
bei ne

 
-

 
cha

  
-

 
le va-

 
-

           

     
     

4




rech et

 
am cha

 
- Yis

 
ra- el

  
-


b' chol


-

 
eit

   
u'v


-

         
      
     

7




chol

 
sha a

  
- bish

 
lo- me

 
-

 
cha

  
-

           
      
        


